Math 216 - Quiz 1
February 5, 2014

Name ketg
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Show all work to receive full credit. Supply explanations when necessary. DO NOT USE A

CALCULATOR FOR ANY PART OF THIS QUIZ.

1. (3 points) The following initial value problem does not have a closed-form solution that
involves elementary functions. Nonetheless, the solution can be written in terms of a

definite integral.
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3. (1 point) Use a direction field generator (see the link on the class website) to construct
the direction field for the ODE ¢ = 1 + z — y. Use the direction field to guess the
solution passing through (0,0). Sgg Avra CHED SWECT,
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4. (3 points) Consider the differential equation d_y =zy'/? y > 0.
x

(a) Referring to our existence/uniqueness theorem, explain why we should not expect
this ODE to have a unique solution passing through any point where y = 0.
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(b) Use a direction field generator to construct the direction field for the ODE. How
many solutions pass through (0,0)?
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(¢) Find the solutions passing through (0,0).
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Problem #3

NN M e e e
///f.!r;.,..f.r!.rf.nw.,
_//,/,/e!f.,.!.f..r,
\_//;/;xff.{.ar
\\\~///,/rr.f:.!
.\\\\_///ffﬁu..
\.\\\\“///.ff.
\\\\\\_//flf
e s /DTN
o /0]

e el e Ml el el e e — -

TR e e e el el e e e

Mo T el el el el e e e e

op.com

Tl N e e el e e e e e

e

-
11...1\\\.\1\.»\\\\_

11111.‘.1...\\\\.\.\\\.\1

1..;1111,\1\,.\\\\.3

|

wanss mathsco

e o 0 e
)
NN e

////..ff.ffr..rf:l.rrrflrurrjlr

/ _ VNN U_..

.11.1111\.\\\.\\\\_////,!.1!.! ..um
15\1\1\\»\3\\\\_,/////;,! 1
.ln]tnt.\]iwl.\.\is.\\\\\\_////f m
\\\\\\ 11111...4,\\\.\\\_///,! .M
aaaaaaa e e e s /L IANN B

18}

NP N N

Problem #4a
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Equation : x*y*(1/2)




